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Q Response Review

Student ID/Username: Full Name: Group/CRN: Delivery Method:

College: Course Name: Area/Branch Name:

Exam: Activity Type: Time Spent: Total Marks:

Q1:. Mark(s): 5/5
maintaining homeostasis by serving as a link between the il A Ga Adlall oY) e Blaal)
nervous system and the endocrine system? T Agaglly ranl) Cujlgall G

Learning Outcomes Covered

o BIO.3.1.01.070
o BIO.3.1.01.086



Q.2:.

Mark(s): 5/5

How do the kidneys help maintain normal blood (pH)? f(PH) asll Lkl uagpaugll a0 Ao Blaad) A A sols

Learning Outcomes Covered

o BIO.3.1.01.053

By absorbing white blood cells

slandl aall LA Galiaiel 3k e

a.
b, By absorbing red blood cells ehpandl adll LA aliaial (313l e
. By excreting dopamine into renal tubules ERPIS{JERI st omaligall jhal Guyha e
d i By excreting hydrogen into renal tubules FEPUN] il oE g ugll cligd 5l Gub oe
Q.3:. Mark(s): 5/5

Which of the following is a structural classification of hormones?

Learning Outcomes Covered

o BIO.3.1.01.062
o BIO.3.1.01.070

Proteins and other nucleic acids

Nucleic acids and amino acids

Steroid and other carbohydrates

eligajgll L il s b Laa gl

Liggi paleal (aly cliag

Al Galaal (5805 dagsi (aleal

Ai))aad g1 S Slsa (5305 Aunsg yii



Q4:. Mark(s): 5/5

What happens after the steroid hormone and its ADdlag Sy lad) O gasgll b)) ey Gaag 1ila

receptor bind to the DNA? SDNA G55} (maalls

Learning Outcomes Covered

o BIO.3.1.01.070
o BIO.3.1.01.086

The cell is destroyed. adall jem

The plasma membrane is destroyed. Gl eliall jiex o

c i Genes are activated. Gluall Lash A

d The nucleus prevents gene activation. Cliall ot aies slgill
Q.5:. Mark(s): 5/5

In the below picture, which letter of the following refers fo (g3l il ) ol b Laa s gi <ol 8y guall o
the structure that helps to control the rate of breathing? fouailll Jana Jo dbidlal) A el

Learning Outcomes Covered

o BI0.3.1.01.086



Q.6: .

Mark(s): 5/5

Which of the following letters receive signals in Al CLEY) iy Al cisaY) o L_;i
the below picture? oLl §) guall o

Learning Outcomes Covered

o BIO.3.1.01.086



Q.7:.

Mark(s): 5/5

Which letter of the following refers to the spinal cord? TSl Jaad) (A ade s Laa s @i

Learning Outcomes Covered

o BIO.3.1.01.086



Q.8:.

Q.9:.

Mark(s): 5/5

Which of the following letters represents the Solial 5, guall B gaall Jiay dguall iall e @i

axon in the below picture?

Learning Outcomes Covered

o BIO.3.1.01.086

Mark(s): 5/5

Why is myelin important in sensing different kinds of pain? *.‘9.\9'. Cra ddlidg g[,si i (A aga Cubilall \ilal

Learning Outcomes Covered

o BIO.3.1.01.086

Decreases speed of nerve impulses ol Judl 2oy e Jla oy
Prevents all nerve impulses Al SV Ll s ada Ay
Prevents nerve impulses from jumping between nodes daadl oy Al e dpeaall YL 2ia Ay



Q.10:. Mark(s): 5/5

a thyroid gland in the below picture?

Learning Outcomes Covered

o BIO.3.1.01.062
o BIO.3.1.01.070

Q11:. Mark(s): 5/5

What are the functional units in the kidneys? canlst) o kel cilasgl) L

Learning Outcomes Covered

o BIO.3.1.01.055

Alveoli Algell olasgall
b, Renal pelvis Al e
Diaphragms el Glaal)
oPNephons au@



Q12:. Mark(s): 5/5

The mineral is placed back into the bloodstream by Gub o6 adll (Gaa 93 AT B galaall Bale) aly

the kidneys through a process called

Learning Outcomes Covered

o BIO.3.1.01.053
o BI0.3.1.01.055
o BIO.3.1.01.086

a,| Filtration st
b Excretion a1
. Coupled transport Zoall Jaill



Mark(s): 5/5

Q13:.

Which of the following letters represents the ureter in  folial 5)g.all A el A el A el o (55

the below picture?

Learning Outcomes Covered

o BIO.3.1.01.053
o BIO.3.1.01.055

ai A :
B

b.

C. C
D

d.




Q14:. Mark(s): 5/5

Which of the following glands secretes hormones that regulate Al Al cligayedl o Al aaall o @i

many body functions and is located at the base of the brain? Tfladl) g 1B A adiy ) il (o el

Learning Outcomes Covered

o BIO.3.1.01.070
o BI0.3.1.01.086

Thyroid 4 )
p. Adrenal BNV
Parathyroid Al @bl
o} Pituitary Aula
Q.15:. Mark(s): 5/5

Which part of the ear transmit information about body pand) g Jga Claghea Jidy oW e eia @
position and balance to the brain? fEladl ) O lsilly

Learning Outcomes Covered

o BIO.3.1.01.086

a'i Semi-circular canals LD Caaill culgual) E
.| Cochlea dad gall
.| Middle ear Sl 53

Oval window Ll 524l



Q.16: .

Which sensory receptors are found on the human tongue?

Mark(s): 5/5

Ty olad Ao agasall duwal) COLEwA) Lo

Learning Outcomes Covered

o BIO.3.1.01.086

Cones

Rods

Olfactory nerves

d.

Q.17:.

Laylad

desll Clacyl

Mark(s): 5/5

What is the cause of loss of balance and decreased

coordination of muscles for a person with brain cancer?

Dzl G aellll Galddly Ol ¢)agh i La
of Laal) ol iliaall ad il

Learning Outcomes Covered

o BIO.3.1.01.086

Because the cancer has damaged hypothalamus

Because the cancer has damaged pons

Because the cancer has damaged pons and hypothalamus

Ngall cias (A )i izay Gllapudl Y

Shaial) 3 1) e Sy Glapd) oY

Slgall Cenig syhaidll ) sy lhyadl oY



Q.18:.

What would be the hypothetical result if a person

lacks the motor neurons?

Mark(s): 5/5

S Gaddll oS 13) daaliy) Aadil) O i 13l
fauSiall dpaal) LAY )

Learning Outcomes Covered

b.

Q.19:.

o BIO.3.1.01.086

Would be unable to breath

Would be unable to feel a deep cut

Would be unable to feel a hot plate

ol e 1als 56
Greall ol pelea! e 1ol 05S o)

Gaball Bl a1 e 1008 0 o)

The spinal cord is part of a major division of the nervous

system called the

nervous system

Mark(s): 5/5

el (B ) aed 04 g g8 Sead) Jaadl

g.'u.aa.ﬂ lgadl e ‘g.ya.“

Learning Outcomes Covered

o BIO.3.1.01.086

somatic

autonomic

peripheral

S

Sl



Q.20: .

Mark(s): 5/5

Which of the following letters represent Tolial 5y guall B sl Jlay 200 iall o gl

the lens in the below picture?

Learning Outcomes Covered

o BIO.3.1.01.086




Q.21:. Mark(s): 5/5

Which of these statements is not true regarding AE A Z:ajﬂl,a Gl lad e 8 Cllual) 028 (e Qﬁi

drugs that effect the nervous system? Ttandl jlgall o

Learning Outcomes Covered

o BIO.3.1.01.086

They can imitate a neurotransmitter sl Jall b e
They can prevent neurotransmitters from leaving bl aalge @lp o dpaall U Al o e
p.| @ synapse
They can block a receptor site on a dendrite sl Al e cSliuall alge ina ¢S
i They can permanently replace neurotransmitters in the brain Loeaall MU Jae Wl (S8 Jas o e
d-i gladl &
Q.22:. Mark(s): 5/5

Which of the following hormone is released from O Ladie (bl Ca 4B Al O gap (AU e L.Si

the pancreas when blood glucose is high? Tladije aall (2 Sl (giua

Learning Outcomes Covered

o BI0.3.1.01.062
o BI0.3.1.01.070

. Calcitonin O gl
b. Glucagon UsalSslall
. Aldosterone 19 s gl
Jmsan s



Q.23:. Mark(s): 5/5

Which is the correct path that a nerve impulse will

€ eV sl B mmal) Jloadd) Arips (53 ) lsal La

follow in a reflex arc?

Learning Outcomes Covered

o BI0.3.1.01.086

a.!
i Sensory neuron — interneuron — motor neuron i€ d_ac
b.
Motor neuron — sensory neuron — interneuron 4y & ac é
C.
Interneuron — motor neuron — Sensory neuron aeun. «1“_.4::.
d.
Motor neuron — interneuron — sSensory neuron :’x:u:. «'-’L“.....sac.
Q.24:. Mark(s): 5/5
Which part of the eye provide information about i :
ofLaall L3 ol oo cla suadl g
color to the brain? gLt A gl o8 Glagina dun cindl 04 €2 ¢
Learning Outcomes Covered
o BIO.3.1.01.086
Iris sl
b, Rods sl
Pupil (aaaall) 5.3l
d E Cones dayladll E



Q.25:.

Mark(s): 5/5

Which of the following numbers represent Toliaf 8y goall B dagdl) Jiay A 28T oo (g

the cochlea in the below picture?

Learning Outcomes Covered

o BIO.3.1.01.086




